o oo 159,999,000 199,874,850
= X = X = - = X
674,240 0 866,020
Gr-C-4E 172 3920] 674,240 0 0 172 5035 866,020
10,849,924 2,156,353 12,337,818
SD295A
D13 t 3411 64,700] 220,691 1 64,700 2411 95,033| 229,124
SD345A
D10 0.041 68,000 2,788 0 0 0.041) 103,000 4,223
SD345A
D13 0.917 65,700 60,246 0 0 0.917 95,450 87527
SD345A
D16-25 90.836 63,700| 5,786,253 32.836| 2,091,653 58.000 93,286| 5410,588
SD345A
D29-32 22.320 64,700| 1444104 0 0 22.320 95,069 2,121,940
SD345A
D38 28.562 69,700] 1,990,771 0 0 28562| 101,033 2,885,704
D6x
SD295 150x 150| 2| 3,843.060 350] 1,345,071 0 0[ 3,843.060 416 1598,712
11,524,164 2,156,353 13,203,838
X X
11,524,164 2,156,353 x 0.8004 x 1.05
7,872,895
X X
13,203,838 x 0.8004 x 1.05
11,096,769
X X
30,000,000 x 0.8004 x 1.05
25,212,600
3,223874
159,999,000 25212600 x 1,347,864
1,876,010
= X = X = - = X
2,677,773 419,331 2,651,382
27434 97| 2,661,098 4323 419,331 23111 114] 2,634,654
145 115 16,675 22 123 136 16,728
2677773 419,331 2,651,382
X X
2,677,773 419,331 x 0.8004 X 1.05
1,898,039
X X
2,651,382 x 0.8004 x 1.05
2,228,274
X X
30,000,000 x 0.8004 x 1.05
25,212,600
330,235
159,999,000 25,212,600 x 1,347,864
x 25,212,600 159,999,000 x 27,434 4,323
25,212,600 159,999,000 x 145 22




H19 9 [H20 2 3 4 5 6 7 10 11 M
50 82 40 172 172 172
3900]  4100[ 4200 .D=_ 172 = *x D
x 195,000| 336,200] 168,000 699,200 [ = 4,065] 699,180
50 82 40 172
Gr-C-4& =(atb /2 3920 4,840 5,070 5210 = *x D
x 242,000 415,740] 208,400 866,140 [ = 5,035] 866,020
194 a 4780|4970 5250
piss 4910|5180 5,180
1 1 2 3 3 2411 z @ >
71,000 79,000 -D= 2411 (2411/3*220000) M 'xD
x 71,000] 158,000 229,000 I = 76,333] 184,038
1 1 2 3
SD295A D13 =(atb /2 | 64,700 88,700] 98200 104,700[ 111700 M= *x D
x 88,700 196,400 285,100 [ = 95,033] 229124
pi5.a 90,000/ 99.000] 104,000| 113,000
pid 87,500]  97,500] 105,500 110,500
0.041 0.041 0.041 0.041
76,000] 82,400 D= 0041 M= *x D
x 3378 3378 | = 82,400] 3,378
0.041 0.041
SD345A D10 @ 68,000 94,000] 103,000 108,000[ 117,000 M= *x D
x 4,223 4,223 | = 103,000] 4,223
pi5.a 94,000/ 103,000] 108,000] 117,000
05 05 1 1.000 0.917
73,000] 80,000 D= 0917 M= *x D
x 36,500 40,000 76,500 | = 76,500] 70,150
SD345A D13 05 05 L
(atb /2 | 65,700 90,700] 100,200 106,700[ 113,700 M= *x Dx
x 45350 50,100 95,450 | = 95,450] 87,527
pi5.a 92,000]101,000] 106,000] 115,000
pid 89,500] 99500] 107,500| 112,500
30 30 28 58 58 60836 | 2 @ <
73,000] 80,000 D= 58 M= *xD
x 2,190,000] 2,240,000 4,430,000 [ = 76,379] 4,429,982
SD345A 30 30 28 58
D16-25 =atb /2| 63700 88,700 98200] 104,700 111,700 M= *x D
x 2,661,000] 2,749,600 5,410,600 [ = 93,286] 5410,588
pi5.a 90,000/ 99,000] 104,000] 113,000
pid 87,500]  97,500] 105,500 110,500
10 13 23 23.000 2232
75,000] 80,000 D= 2232 M= *x D
x 750,000[ 1,040,000 1,790,000 [ = 77,826] 1,737,076
SD345A 10 13 23
D29-32 =(atb /2 | 64,700 80,700] 99200 105,750] 112750 M= *x D
x 897,000 1,289,600 2,186,600 [ = 95,069] 2,121,940
pi5.a 91,000]100,000] 105,000] 114,000
pid 88,500|  98500] 106,500 111,500
10 20 30 30.000 28562
80,000] 90,000 D= 28562 M= *x D
x 800,000[ 1,800,000 2,600,000 [ = 86,666] 2,475,354
SD345A D38 A0 20 80
=(atb /2 | 69,700 94,700] 104,200 110,750[ 117,750 M= *x D
x 947,000[ 2,084,000 3,031,000 [ = 101,033] 2,885,704
pi5.a 96,000]105,000] 110,000] 119,000
pid 93,500 103500] 111,500| 116,500
1000 1000 1000 900 3,900 3,900.000 3,843.06
330 330 330 360 - D= 3843.06 M= *x D
x 330,000[ 330,000] 330,000[ 324,000 1,314,000 [ = 336] 1,291,268
sp205 |D6X 1000 1000 1000 900 3,900
150x 150 @) 350 408 408 408 443 M= *x D
x 408,000] 408,000 408,000] 398,700 1,622,700 [ = 416] 1508712
pdd 408 408 408 443
T 'xD 13,203,838
0.8004
T "x Dx 10,568,351
M S "xD 10,890,426 o



